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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. An example of hormone is -
(a) Cytosine

(b) Renin

(c) Oxytocin——

(d) Peprin
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akar 15 hours ago
C) Oxytocin is an hormone that is normally produced in the hypothalamus and
ored inthe postermrw. It plays a role in social bonding, sexual
reproduction in both sexes, and juring and after childbirth. It is released due to
stretching of the cervix and uterys during labor and with stimulation of the nipples from
breastfeeding.
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Dharmraj Kumar 12 hours ago

Adrenaline is an example of a hormone that is under the control of the nervous system.
Pancreas — an organ of digestion which is inside the abdomen. It makes insulin, which
controls the amount of sugar in the bloodstream. It also makes other hormones such
as glucagon and somatostatin.
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Options -(c).. oxytocin.. thank you so much sir Ju Ja de sasesnsa® @' v @
vV

Reply

Souvik Chand 17 hours ago

Adda

Ans - (c) oxytocin is the right answer... &
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C) oxytocin is an plant hormone's.
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NEWTON BA 15 hours ago
Ans) Z4ytocin (love hormone @ )

¥ oxyiocin is a natural HORMONE that stimulates uterine contractions in childbirth
an after childbirth. It also affects aspects of human behavior and the male
and female reproductive systems.

~—

¥ Piperine is an alkaloid present in black pepper and in other Piper species fruits.

¥ Cytosine is a chemical compound that is used to make one of the building blocks of
DNA and RNA.

¥ Renin is an enzyme that helps control your blood pressure and maintain healthy
levels of sodium and potassium in your body.
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Q. An example of hormone is -
(a) Cytosine

(b) Renin

(c) Oxytocin

(d) Peprin
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Q. What is Teflon?
(a) Fluorocarbon
(b) Hydrocarbon
(c) Microbicides
(d) Insecticide
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Q. What is Teflon?
(a) Fluorocarbon
(b) Hydrocarbon
(c) Microbicides
(d) Insecticide
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Q. What is laughing gas?
(a) Nitrous Oxide

(b) Carbon monoxide
(c) Sulphur dioxide

(d) Hydrogen peroxide
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Q. What is laughing gas?
(a) Nitrous Oxide

(b) Carbon monoxide
(c) Sulphur dioxide

(d) Hydrogen peroxide
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Q. RDX was invented by

(a) Alfred Nobel -
(b) Soddy Cdmemiy

(c) Bergillins

(d) Henrli\n}//
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Q. RDX(RESEARCH DEVELOPMENT EXPLOSIVE) was invented by
(a) Alfred Nobel

(b) Soddy

(c) Bergillins

(d) Henning
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Q. The two elements that are frequently used for making transistors are
. . \_/

(a) Boron and aluminium

(b) Silicon and’germanium

(c) Iridium and tungsten

(d) Niobium and columbium
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Q. The two elements that are frequently used for making transistors are
(a) Boron and aluminium

(b) Silicon and germanium

(c) Iridium and tungsten

(d) Niobium and columbium
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Q.% gets discoloured in air because of the presence of which of the following
gases in air?

(a) Oxygen

(b) Hydrogen sulphi(y

(c) Carbon dioxide

(d) Nitrogen
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Q. Brass gets discoloured in air because of the presence of which of the following
gases in air?

(a) Oxygen

(b) Hydrogen sulphide

(c) Carbon dioxide

(d) Nitrogen
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QMcide is the chemical which is used to control.
(a) Bats
(b) Monkeys * }OevH Q051 UM

(©) M(% C(\\/lomio\e_

d) Rabbits t
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Q. Rodenticide(KCN or Zinc Phosphide) is the chemical which is used to control.
(a) Bats

(b) Monkeys

(c) Mouse

(d) Rabbits

¥. UERuss 98 W ¢ Saer 3y AaRa &9 & v fFar smar
(V) JHINCS
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Q. Which of the following is a non metal that remains liquid at room
temperature"

(a) Mercury Me+-=80 z
(b\}/rﬁﬁnne-EQ
(c) Chlorine Now M e +o

(d) Helium
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Q. Which of the following is a non metal that remains liquid at room
temperature?

(a) Mercury

(b) Bromine

(c) Chlorine

(d) Helium
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Q. Isotope '*C, is associated with -
(a) For cancer diagnosis

(b) Determining the age of the earth

(c) Determining the a :(

(d) For traler technology

. 3msaReT M, Fafaa § - |
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Q. Isotope '*C, is associated with -
(a) For cancer diagnosis

(b) Determining the age of the earth
(c) Determining the age of fossil

(d) For traler technology
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(v) WX A & e
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Q. Which one of the followmg pairs is correctly matched?

(a) Silver lodide %
(b) Silver Chloride rtificial rain ﬂ(j -
(c) Zinc Phosphide * Rat pmso%( "¥e r\D
(d) Zinc Sulphide - Philosopher’s wool
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(&) eay FaAREs - FEFA T
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Q. Which one of the following pairs is correctly matched?
(a) Silver lodide - Horn Silver(ARTIFICIAL RAIN)

(b) Silver Chloride - Artificial rain(HORN SILVER)

(c) Zinc Phosphide - Rat poison

(d) Zinc Sulphide - Philosopher’s wool(ZNO)

g. Afaf@a & & Fia a1 397 7 gafoa 87
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Q. Momentum of a body ofs 10 kg-m/s/ then its Kinetic energy will
be: - -

q. 1 5 geadAT & A &1 371 10 Far-Aeyawvs/g o sahr afas Fa1
g

S +
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A. 100] )
B. 50] :.C_é_\mv"‘m
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Q. Momentum of a body of mass 1 kg is 10 kg-m/s/ then its Kinetic energy will
be:

q. 1 5 geadAT & A &1 371 10 Far-Aeyawvs/g o sahr afas Fa1
g

100 ]
50 ]
1000 |
200 ]
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Q. One sphere collides with another sphere of the same mass at rest inelastically.
If the value of the coefficients of restitution is 1/2. Then the ratio of their speed
after the collision will be:

. TF el 3H geqd A F qgEl A § THUAT ¢ N P w9 & R 71 oA
qgTell & I[OMH HT AW 1/2 g1 @ TFHT F d1G P A HT 91T B
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Q. One sphere collides with another sphere of the same mass at rest inelastically.
If the value of the coefficients of restitution is 1/2. Then the ratio of their speed
after the collision will be:

. TF el 3H geqd A F qgEl A § THUAT ¢ N P w9 & R 71 oA
qgTell & I[OMH HT AW 1/2 g1 @ TFHT F d1G P A HT 91T B
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Q. If the momentum of a particle increases by 30%, then increase in its Kinetic
energy is:
v. afg fret For T HAT 30% TG AT §, A 3WRT AT FelT A gl B
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Q. If the momentum of a particle increases by 30%, then increase in its Kinetic
energy is:

v. afg fRet For FT HAT 30% ¢ SATAT §, A IHH AfAST FoAT A i g:
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Q. Two particles of same mass having Kinetic energies 100 ] and 400 ], then ratio
of their momentum will be:

Y. WA GeaATT F & FUT Y aAfAS FoAT 100 J FAT 400 J §, a’rmmm
39T EI:

K.xX= 1 —y
A. 2:1‘7% 58\
B. 1:2 |< . = | )7_
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Q. Two particles of same mass having Kinetic energies 100 ] and 400 ], then ratio
of their momentum will be:

Y. AT GeOATT & & HUIT $1 Ifast FAT 100 J IUT 400 J §, aF 3% HAIM FT
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4

Q. In atom, neutron was discovered by:
‘/
(a) J.J. Thomson

(b) Chadwigl/
(c) Rutherford J

(d) Newton

. QWATY] & g2l 1 @ fFad g@nr i g o:

(Q’)STSTW O '
(&) =g S T TR nNE

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. In atom, neutron was discovered by:
(a) J.J. Thomson

(b) Chadwick

(c) Rutherford

(d) Newton
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Q. Change of water into the vapour is called -
(a) Natural

(b) Physigzﬂ//\s
(c) Chemical
(d) Biological

Y. ST T a9 & IRadsT Hedar & -
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Q. Change of water into the vapour is called -
(a) Natural

(b) Physical

(c) Chemical

(d) Biological
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Q. Which one of the following is the hardest metal?
(a) Gold

(b) Iron

(c) Platinu

(d) Silver
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Q. Which one of the following is the hardest metal?
(a) Gold

(b) Iron

(c¢) Platinum

(d) Silver
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Q. These days yellow lamps are frequently used as street light. Which one of the
following us used in these lamps:

(a) Sodilin/

(b) Neon

(c) Hydrogen

(d) Nitrogen

(T) mﬁfn:r L Z'DQ H O‘\'Q,Q))(_) \ | xceﬁo \ %b«“b(? @
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Q. These days yellow lamps are frequently used as street light. Which one of the
following us used in these lamps:

(a) Sodium

(b) Neon

(c) Hydrogen

(d) Nitrogen

q. 34 el TIe a1z & T & Fax N o &1 393 Far smar g1 3o 4t
H gaa Aafaf@a F @ fraer vaer fhar @

(v) |fsa#

CURGEIG]
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Q. In which of the following industries is mica used as a raw material -
(a) Iron and steel

(b) Toys

" (c) Glass and pottery

(d) Electliy//

y. feafaf@a & @ Fa 3097 & 3 &1 JAT Fed AT & ¥ A fRar e
g -

(v) wieT 3R FEard

() fa=la

(@) = 3R ATdh & Taa
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Q. In which of the following industries is mica used as a raw material -
(a) Iron and steel

(b) Toys

(c) Glass and pottery

(d) Electrical

y. feafaf@a & @ Fa 3097 & 3 &1 JAT Fed AT & ¥ A fRar e
g -

(v) wieT 3R FEard

() fa=la

(@) = 3R ATdh & Taa

(3N) T



Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount Adda 247

Q. Which of the following is mainly used for the production of Aluminium?
(a) Hematite

(b) Lignite
(c

(d) Magnetite

y. faf@a & @ fFasr 399 g7 w9 @ tegAfAEw F 3caea ¥ fav
fraT STaT 82
(V) gHerse
CUREECIEL
(dY) SiFATSe
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Q. Which of the following is mainly used for the production of Aluminium?
(a) Hematite

(b) Lignite

(c) Bauxite

(d) Magnetite

y. faf@a & @ fFasr 399 g7 w9 @ tegAfAEw F 3caea ¥ fav
fraT STaT 82
(V) gHerse
CUREECIEL
(dY) SiFATSe
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Q. Solder used in soldering metal pieces consists of any alloy of:
(a) Tin and Zinc

(bl;vi{ and Lyd/

(c¢) Tin, Zinc and Copper

(d) Tin, Lead and Zinc

¥. THT S a1 O & Thsl A SEAATA gl arel West A et F & w1 o
frar arq @ &
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Q. Solder used in soldering metal pieces consists of any alloy of:
(a) Tin and Zinc

(b) Tin and Lead

(c¢) Tin, Zinc and Copper

(d) Tin, Lead and Zinc

Y. T[T WA dTel T & THSI A FEAATA gl el Alest A AT 7 & w1 o
frar arq @ &

(v) feaT 3R G

(&) fea 3k i
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Q. Which of the following do not consist carbon?
(a) Diamond @

(b) Graphit
(c) Coal

(d) Non%lfese

q. fAefaf@d & O fFad s a8t axar 82
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(@) FTH A FIF Ag!

Adda

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which of the following do not consist carbon?
(a) Diamond

(b) Graphite

(c) Coal

(d) None of these

q. fAefaf@d & O fFad s a8t axar 82
(T) BRI

(1) IvrsT

(&) Frger

(@) FTH A FIF Ag!
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Q. Which one of the following fuels causes minimum air pollution?

(a) Kerosene oil
(b) Hydrogen
(c) Coal

(d) Diesel

¥. afaf@a & & Fi7 91 $UeT FYATH T YGWOT FT FROT FoTal 87
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Q. Which one of the following fuels causes minimum air pollution?

(a) Kerosene oil
(b) Hydrogen
(c) Coal

(d) Diesel
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(v) fAedr &1 aa

CUREEED]

() e

3 o

e




Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which gas is used in the purification of drinking water?

(a) Helium

(b) Chlorine /
(c) Fluorine

(d) Carbon Dioxide

Y. OFSTel & Qeftor A fhE 3w 1 vAer R Sar 82
(T) grferasr
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Q. Which gas is used in the purification of drinking water?
(a) Helium

(b) Chlorine

(c) Fluorine

(d) Carbon Dioxide
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Q. Which is used as laughing gas is -
(a) NitrWe

(b) Nitrogen Dioxide

(c) Nitrogen Trioxide

(d) Nitrogen Tetra Oxide
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Q. Which is used as laughing gas is -
(a) Nitrous Oxide

(b) Nitrogen Dioxide

(c) Nitrogen Trioxide

(d) Nitrogen Tetra Oxide

9. 89T drell A9 & T H fFaar g9 I Sar ¢ -
(V) ATSEH IHTFATSS

() AZEIS SFIATFAZS

(HY) AT TRFITFATSS

(3) AL g AFATSS
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What is Nila thotha?

Copper Sulphate ( V< o
H
(b) Calcium Sulphate 1 (g OD

(c) Iron Sulphate
(d) Sodium Sulphate

9.
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Q. What is Nila thotha?

(a) Copper Sulphate(CuS04.5H20)
(b) Calcium Sulphate

(c) Iron Sulphate

(d) Sodium Sulphate

q. AT AT FAT §?
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Q. Which is the fundamental element of all organic compounds?
(a) Nitrogen

(b) Oxygen

(c) Carbon

(d) Silicon
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Q. Which is the fundamental element of all organic compounds?
(a) Nitrogen

(b) Oxygen

(c) Carbon

(d) Silicon
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Q. Which acid is found in-Vinegar?
(a) Lactic Acid f]\q ¥ /C Dk
(b) Citric Acid

(c) Malic Aci L e o C Vito)
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Science| | Deepmani Bhardwaj | | Use Code- Y723 for Max Discount

Q. Which acid is found in Vinegar?
(a) Lactic Acid

(b) Citric Acid

(c) Malic Acid

(d) Acetic Acid
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Q. To avoid ‘knocking’ of the engine of a car, which one of the following is used as

an anti-knocking agent?
(a) Ethyl alcohol

(b) Butane
(c) Tetra Ethyllead
(d) White Petrol
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Q. To avoid ‘knocking’ of the engine of a car, which one of the following is used as
an anti-knocking agent?

(a) Ethyl alcohol

(b) Butane

(c) Tetra Ethyl Lead

(d) White Petrol
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@ a car battery, electrolyte substance used is -
(a) Hydrochloric acid
(b) Sulphuric acid
(c) Nitric acid
(d) Distilled water
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